COMPUTATION WORD PROBLEM

At a popular restaurant, most customers order three types of meals. Calculate the product for each

meal order.
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A whole pizza (6 slickes) —
$25.00

A serving of Nuggets — $12.50

A glass of hot chocolate —
$5.50

One Burger — $17.00

A serving of Chicken salad —
$12.99

One bottle of orange-pineapple
juice — $6.30

Calculate the following meal orders. Show all workings.

1. QUESTION

Order 1: 2 servings Nuggets, chicken salad, 1 bottle orange-pineapple juice

Particulars

Amount

2 servings of nuggets @ $12.50

1 bottle orange-pineapple juice @ $6.30

Amount payable

www.studyassistant.org




2. QUESTION
Order 2: 1 burger, 2 chicken salads, 3 bottles of orange-pineapple juice

Particulars Amount

3. QUESTION

Order 3: 3 pizzas, 4 bottles of orange juice

Particulars Amount

4. QUESTION

Order 4: 3 burgers, three slices of pizza, 1 chicken salad, 3 orange-pineapple juice, 1 hot chocolate

Particulars Class
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